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5. While Travis and Bob were flying a hot-air balloon from Beamsville to X
Vineland in southwestern Ontario, they decided to calculate the straight-line

rest metre, between the two towns.

of 226 m, they simultancously measured the angle of

0 Beamsville as 2° and to Vineland as 3°.

* They measured the angle between the lines of sight to the two towns as 80°.

Is there enough information to calculate the distance between the two towns?

Justify your reasoning with calculations. Zle N\
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7. Suppose Romeo is serenading Juliet while she is on her balcony. Romeo is
facing north and sees the balcony at an angle of elevation of 20°. Paris, Juliet’s
uicor, is observing the situation and is facing west. Paris sces the

otl
balcony at an angle of clevation of 18°. Romeo and Paris are 100 m apart as
shown. Determine the height of Juliet’s balcony above the ground, to the
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11. Bert wants to calculate the height of a tree on the opposite bank of a river. To
do this, he lays out a baseline 80 m long and measures the angles as shown at
the left. The angle of elevation from A to the top of the tree is 28°. Explain if
this information helps Bert to calculate the height of the tree to the nearest
metre. Justify your reasoning with calculations.
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